
 
 

If 𝒙, 𝒚, 𝒛 > 𝟎, 𝒙 + 𝒚 + 𝒛 = 𝒙𝒚𝒛 then: 

√𝒙𝟐𝒚𝒛 + 𝒚𝒛 + √𝒚𝟐𝒙𝒛 + 𝒙𝒛 + √𝒛𝟐𝒙𝒚 + 𝒙𝒚 ≤ 𝟐𝒙𝒚𝒛 

Proposed by Samed Ahmedov-Azerbaijan 
Solution by proposer 
 

√𝒙𝟐𝒚𝒛 + 𝒚𝒛 = √𝒙𝟐 − 𝒙𝟐 + 𝒙𝟐𝒚𝒛 + 𝒚𝒛 = √𝒙𝟐 + 𝒙(𝒙𝒚𝒛 − 𝒙) + 𝒚𝒛 =  

= √𝒙𝟐 + 𝒙(𝒚 + 𝒛) + 𝒚𝒛 =√(𝒙 + 𝒚)(𝒙 + 𝒛) 

 

İt can also be shown that  √𝒚𝟐𝒙𝒛 + 𝒙𝒛 = √(𝒙 + 𝒚)(𝒚 + 𝒛) and 

√𝒛𝟐𝒙𝒚 + 𝒙𝒚 = √(𝒙 + 𝒛)(𝒚 + 𝒛)  is true 

 

√(𝒙 + 𝒚)(𝒙 + 𝒛)   𝑨𝑴≥𝑮𝑴
≤  𝒙+𝒚+𝒙+𝒛

𝟐
=

𝟐𝒙+𝒚+𝒛

𝟐
    (1) 

⇒ √(𝒙 + 𝒚)(𝒚 + 𝒛)  ≤
𝟐𝒚+𝒙+𝒛

𝟐
     (2)𝑨𝑴≥𝑮𝑴

≤
 

√(𝒙 + 𝒛)(𝒚 + 𝒛)  ≤
𝟐𝒛+𝒙+𝒚

𝟐
     (3) 

 

(1)+ (2)+ (3)  ⇒ √𝒙𝟐𝒚𝒛 + 𝒚𝒛 + √𝒚𝟐𝒙𝒛 + 𝒙𝒛 + √𝒛𝟐𝒙𝒚 + 𝒙𝒚 ≤
𝟒(𝒙+𝒚+𝒛)

𝟐
=

𝟒𝒙𝒚𝒛

𝟐
= 𝟐𝒙𝒚𝒛 

 


